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;};, 38 p TRlE 94e 95 & 96 -# 97 & 98# 99# %1% 99# %2%
Lok kS $FF SR 3.50 3.20 3.17 3.15 3.12 3.22 3.18
ORE RN 6% 2.01% 1.25% 1.01% 0.93% 0.87% 0.84% 0.84%
FZid F @ 5 =16% | 13.25% 11.64% 11.36% 11.01% 10.83% 10.79% 11.23%
Foop s e B AT 5 023% 0.20% 0.20% 0.20%  0.23% 0.23% 0.21%
Preirm s b A7 ™ * B0 48 5 259% 2.22% 1.93% 168% 1.58% 1.76% 1.44%
A F =34% | 3293% 33.83% 35.07% 35.86% 37.17% 38.21% 39.36%
st b e R A A TR P AFLF =17.13% | 16.03% 14.25% 13.52% 13.55% 15.66% 15.60% 14.06%
Bl n BRES (T IR)F ™ * B p L 4F 5 581% 5.07% 4.59% 4.08%  3.79% 4.01% 3.48%
Bl B (TR P * B p L 47 5 2.18% 1.81% 1.55% 1.34%  1.26% 1.35% 1.14%
Briesri A E S (T JRE L) T ™ * B pIRE A 3.90% 3.36% 2.96% 2.56% 2.41% 2.51% 2.18%
Bl sl 2 NEDS T b * #Fp LS 4.09% 3.82% 3.81% 3.76%  3.90% 4.17% 4.14%
Bl b R B 7 P * B LA T 536% 5.19% 5.07% 5.03% 5.01% 5.29% 5.11%
BT MEEESF T F ™ ¥ Fp il A 5 10.40% 10.47% 10.59% 10.75% 10.51% 10.85% 10.53%
lair®dn BREH(vIR)A ™ * Fp e F =9.18% 2.45% 2.06% 1.78% 1.52% 1.41% 1.60% 1.23%
Prusris o g Ed (T IR)Z ™ * #p LA 5 =317%| 165% 1.33% 1.09% 091% 0.85% 0.95% 0.74%
ol s TiE o AEEE L (v JRE L) A > * B P L AT S | =6.03% 221% 1.88% 1.61% 1.39%  1.30% 1.46% 1.16%
Pl srdipi Al A W ES 3 e ™ * Ep A =4.33% 2.26% 1.92% 1.83% 1.66% 1.67% 1.85% 1.71%
Frlrrib fn &y 2 P * Fp L4 5 =8.44% 2.76% 2.40% 2.05% 1.86% 1.86% 2.04% 1.79%
FrairE AR 3 i * Fp i F =14.96% 348% 3.08% 2.75% 247% 2.39% 2.61% 2.27%
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14897 TpliE 94 & 95 96 97.& 98 99& %1%  99& %2%

FEFRET

TR R ¥R E R ER(GL2) 3.47 3.35 3.36 3.34 3.29 3.37 3.32
PP it sl v & 5.43%x(1£10%) 5.44% 5.35% 5.36% 5.42% 5.32% 5.46% 5.52%
Fofd ke ¥ 8.82%x(1£10%) 8.82% 8.04% 7.84% 7.64% 7.48% 7.21% 7.77%
oA P LA 1.66% 1.78% 1.74% 2.00% 1.91% 1.87% 1.94%
FRsrR e L7 ™ " Fp A F 2.49% 2.26% 2.07% 1.91% 1.77% 1.80% 1.67%
R i N S ) -11.29% -1.86% 3.64% 3.31% 5.00% 0.86% -0.98%
@ ®ESWLA o Lasqy* & =& 1.155%(1£10%) 1.15 1.14 1.13 1.14 1.14 1.14 1.14
Freird e g Ao AT P AL 9.85%x(1£10%) 9.85% 8.17% 7.78% 7.71% 21.50% 18.56% 7.77%
Erlosrid o RS (v JR)F b ¥ F P BL AR X 4.82% 4.39% 4.15% 3.93% 3.76% 3.87% 3.59%
B B (TR R B p R E A 1.36% 1.13% 1.03% 0.92% 0.83% 0.84% 0.77%
BEERrtE o M EE (U IRE L) T it P BE AR 2.60% 2.19% 2.00% 1.77% 1.64% 1.65% 1.55%
Bt Al o HEF 3 P ¥ Fp LA X 3.41% 3.40% 3.16% 3.04% 2.92% 2.98% 2.84%
BT b R EF 3 P T P LA 3.54% 3.40% 3.23% 3.15% 3.09% 3.10% 2.98%
Bt d MR ES T b * Fp L 7.02% 6.74% 6.46% 6.25% 6.09% 6.08% 5.93%
Fledrts o BES (T PR)H i * Fp LA S 4.82%x (1+10%) 2.76% 2.51% 2.40% 2.29% 2.18% 2.24% 2.05%
Folesid o Pg B de (¢ IR)F i * F D AR 2.93%x(1+10%) 1.03% 0.85% 0.76% 0.66% 0.58% 0.59% 0.53%
R td o AR (U PRE L) s Y E P dcE A S 1.95%x(1£10%) 1.54% 1.29% 1.16% 1.02% 0.93% 0.96% 0.87%
Rl & HEF 3 P ¥ F P LA 3.41%x(1£10%) 2.25% 2.21% 1.95% 1.81% 1.66% 1.72% 1.58%
Frasriib §n gy 2 kA * B g S 3.54%x (1+10%) 2.04% 1.90% 1.69% 1.56% 1.45% 1.48% 1.36%
Rt AL E 5 7 i * P i A 7.02%x(1+10%) 3.42% 3.16% 2.92% 2.71% 2.55% 2.57% 2.44%
LRFRET

30p M AL AREF 2. 19%x(1£10%) 2.13% 2.10% 2.13% 2.20% 2.05% 1.88% 2.05%
Apek i Mfisldp N g D 6. 98%x(1£10%) 6. 83% 6.79% 7.13% 6.75% 6.81% 7.31% 7.54%
HPed s 15-30p 0 R ARG 6. 75% 7.26% 7.67% 8.12% 8.21% 8.49% 8.49%
CT5 2 17 5 o) 10. 26% 10.11% 10.58% 11.24% 11.13% 10.70% 10.65%
MRT % # B34 17 5 (o) 2. 75% 2.89% 3.10% 3.39% 3.52% 3.73% 3.65%
FVRA S 33. 84%x(1£10%) 32. 93% 33.20% 34.08% 33.72% 34.59% 35.04% 35.73%
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fptEIE p ERE 94 = 95# 96 & 97 # 98& 99# %1% 99# %2%
TR ERF - ETBHERF <3.13% 0. 06% 0.04% 0.03% 0.02% 0.02% 0.02% 0.02%
TR EMR S L B T HEA K <1.45% 0.50% 0.45% 0.40% 0.37% 0.30% 0.30% 0.29%
il R SN AT <34.09% 11.75% 11.22% 10.74% 9.66% 9.23% 9.82% 8.48%
Fra i g 7 A - E Ry F >96.51% 96.51% 96.69% 96.84% 96.93% 97.06% 97.09% 97.21%
Frm gt g 7 AT - E g >90. 58% 90. 58% 90.98% 91.39% 91.59% 91.94% 92.26% 92.42%
Frest90p PR ok = - K >65. 91% 87.22% 88.07% 88.57% 89.51% 90.26% 90.66% 90.19%

(324 Sezt e
B3It 2r 7 %7 e TiaE+]10%) 99+ 48. 21% 52.34% 52.88% 52.79% 53.17% 52.75% 52.35%

ERlE 52 98%x(1+

(#2285 atFL TS

RN e m , 2 T 2iE+10%) 99+ 0

S5F&IIT a3 7SI REIRIE A Bt F 15. 37% 23.83% 29.49% 33.22% 36.33% 42.85% 41.59%

=R E=34. T8%x(1+
10%)

o
L 4pfBoT B 2 Tk
(D7 WA ERF

(g iR %> F 1 1[4 /2% ¥ 43(90001C) ~ #142(90002C)
~90020CH%¥ 4 B /PRERIHE

(3)7 A B &

OIS

st 21 &

aJL =7 *ﬂﬁ"/» 7 'ﬁﬁt °

FEeRRALET &, 38 L (3)h) MR F LIRS TR BART &, 3 )
= $212 +(90003C) -
£1(90015C) en % 4 #c® J(97# % 15 FlA=F £ {47
2=l (F 7 E A ) (EA T k) -

(A2 --Bi7 ) | b RRRYTE G RP- 7

L?*“l

THMEEL
R 1%‘ (90016C) -

90018C(57 2 ¢

(AF—F7 =Eitlic) A2 2 9 = gle (365% ) *2ﬁ(730%)p\ HAREEERAFIMAFL T ko

SRk R BRI AR A AR
SR PEB-pEEE D 992102 4p

Sfes95&Eir 042 TR2ARERGT FRAFEAAIASTMAES 5, A4

757 Fip g P

I N

SALE T 94E o

i)



%294 2ARERGE%R? FFRETHEGLRA)
i p ERE 94 & 95 & 96 & 97 & 98 & 99# %1% 99# % 2%
TR NS % Ep L AF2p P K 0.72% =% 7| & <0.88% 1.14% 0.91% 0.84% 0.76% 0.74% 0.76% 0.70%
PEGHRETR R R ) Flasr g 129%=<% #lE <1.58% 1.34% 1.44% 1.44% 1.50% 1.53% 1.53% 1.66%
?F R bR A F ¥l 51.3% <% & <62.7% 52.83% 54.71% 56.68% 57.74% 59.88% 59.06% 59.96%
e p ;ﬁiﬁ} L 0.13% =% & <0.15% 0.16% 0.14% 0.14% 0.14% 0.14% 0.14% 0.12%
bg i’s!,?.%%ﬁ:’zﬁ: 242<% P& <296 2.61 2.60 2.62 2.66 2.69 2.62 2.68
pEA R F 0.60% =% 7 & <0.74% 1.70% 1.01% 0.66% 0.57% 0.51% 0.49% 0.46%
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%295 2N REREERPZEFREFRSTHIE(R L)
fp 1838 P EORE 94 & 95 & 96 # 97 & 98#& 99# %1%99% %2%
v RF IS

Albumin- % % >90% 95.73%  97.20%  97.81%  97.86%  98.13%  98.25%  98.23%

Albumin(BCG) 3 - 450 474 496 521 509 511
Albumin(BCG)* 5 & - 3.88 3.89 3.89 3.90 3.90 3.89

S5 3 |AbumInBCG)<35T 4 <30% - 11.83%  11.30%  1155%  11.13%  11.15%  11.25%
Albumin(BCP) 3dk — 42 40 34 33 34 33

Albumin-= £ & (BCP) 3.89 3.50 3.56 3.59 3.59 3.53 3.52
Albumin(BCP)<3.0F 4 +* <30% 287%  11.42%  977%  10.18%  879%  10.91%  10.13%

KUV~ & % >90% 9251%  95.08%  96.09%  96.38%  96.79%  96.98%  97.11%

KV |Kov-s s 1.69 1.70 171 171 171 1.70 171
KiV< 127 4 1 <10% 133%  128%  113%  350%  3.20% 3.40% 3.00%

Hot- £ f >90% 95.79%  97.08%  97.99%  97.91%  98.26%  98.34%  98.31%

Hot Hot- 515 3076 3112 3139 3136  31.89 31.68 31.87

Hot < 247 A 1 <15% 451%  404%  344%  320%  2.50% 2.70% 2.60%

A 20997 22507 21206 20637 22267 . 1L19%
AL s A ) 412 4.29 3.88 357 3.69 3.61

s [BHRESLELe Um0 108%  1.14%  099%  088%  0.84% 0.77% 0.67%
SRR a0 H(LEF L) 0.65%  064%  065%  0.60%  0.59% 0.68% 0.62%

AE R 4236 2278 2168 2182 2,031 862

A E i ) 99t L &

REEEE(LA/EF ) 0.83 0.43 0.40 0.38 0.34 0.28

T 69 71 66 55 70 44
s [PEEOTE 102%  118%  120%  063%  079% 0.93%
THIE A 370 325 209 239 249 117
54 (1) § 4% 041%  061%  041%  012%  0.12% 0.11%

L |k - - - 231 124 43
S R PP - - - 43495 45468 9 45264
e - - - 053%  0.27% 0.09%

W - - — 515 453 102

cH ”Eﬂdm TR - - - 39,100 41220 991 i 41449
) P _ - - 132%  1.10% 0.25%
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iﬁ 1&g p B | 94 & 95 & 96 # 97 & 98#& 99# %1%99% %2%
S T I A
Albumin-£ # % >90% 93.77%  95.98%  96.63%  96.90%  97.38% 98.06% 98.15%
Albumin(BCG) i< — 59 86 91 101 96 101
Albumin(BCG)= 32 — 3.75 3.76 3.76 3.76 3.76 3.77
& 39 |Albumin(BCG)<3.5F 4 vt < 40% — 2223%  20.73%  20.53%  20.95% 21.34% 20.64%
Albumin(BCP) #ic — 11 12 12 16 15 15
Albumin- 35 & (BCP) 3.77 3.40 3.37 3.41 3.45 3.33 3.27
Albumin(BCP)<3.0F 4 - < 40% 596%  19.27%  19.68% 17.17% 18.41%  19.95%  23.73%
KUV-% % >90% 93.98% 100.00%  94.68%  96.49%  96.48% 96.40%
Weekly KtV |Kt/V-T ¥a i 2.13 2.11 3.28 2.09 2.08 99+ L i 2.06
KUV< L7F 4 1t <20% 15.36%  15.13%  1579%  14.59%  15.26% 15.69%
Het- & >950% 94.07%  96.37%  97.05%  97.33%  97.77% 98.37% 98.35%
Ht Het- #5i8 28.85 29.14 30.33 30.43 30.68 30.65 31.01
Het < 247 4 vt <20% 12.43%  11.09% 8.98% 8.10% 7.10% 7.60% 6.50%
o ik 1,750 2,346 2,588 2,677 2,842 001 = 8 1,438
- Hpad(h=/5F 4 0) 4.28 5.52 5.24 4.64 4.49 - 4.29
. BUER<LEZ = F(L/EFAD) 0.57% 0.61% 0.69% 0.65% 0.61% 0.47% 0.53%
o BHER=1E L 7= F(L/EF A 0.52% 0.55% 0.51% 0.53% 0.52% 0.50% 0.59%
R L 2 664 797 918 932 1,030 , 592
B A S ) ) 99+ L &
UL A F (A K/EF A <42/100 4 * 1.62 1.88 1.86 1.61 1.63 1.77
Tor A AR 4 B 11 3 9 14 4 4
s w4t % (1)-F 4 50 % 7R 1.13% 0.35% 0.79% 0.99% 0.28% 001 & s 0.59%
TR g 134 98 76 88 109 - 43
54t 7 (I1)- T 45 4 1.93% 2.45% 1.60% 0.44% 0.49% 0.37%
e a o | - - - 28 14 2
Bil};;{;: " ikt g - - - 4,139 4,594 99+ % it 4,742
T s - — — 0.68% 0.30% 0.04%
e AR 2 - - - 26 18 3
Cyﬁﬁfﬁﬁfﬁﬁ‘& - - - 4,400 4,848 991 i 5,028
* S - - - 0.59%  0.37% 0.06%
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